000000000000000000) filename=nuclear-reactor-efficiency-qal30805.tex

gbooboboboboboooboobg2sbdbobobooooobobobobob400
goooboooon

l.Jgobbbooodooooboqpooobbboooobbooomm

2. 000000 1000 MW(1 MW =10°W)0000000000000000O000O0
O00000000n035%0000000000000000000000000WOO

3. 0000000000000000004x10%keg/s00000000O0O0O0OOOOO
goboboogoobobooan

©oo)
1. 0000000 7000000000000000000000000 Ty0000
000 7,000
T 40 + 273
S P R AL A P 1
" Ty 9285 + 273 ()

2. 0000(000)x(0000000000000000000(Phemat X et = Poft—oloctric)
0000000000000000000 (Pg—oectic) 00000 Ppema 00000,

Pthermal X Nef = Peff—electric
Pe —electric
— Pthermal f-clect
UBi
1000MW
= ————— = 2857 MW. 2
0.35 (2)

000000000000000000000 Paeene 100000

Pelectric - R;hermal xXn
— 9857 x 0.44 = 1257 MW (3)

gboboooooboobooooon

Pelectric - Peff—electric = 1257TMW — 1000MW
— 25TMW ()

gooo
. 000obooooboboooon

2857MW — 1000MW = 1857MW (5)




O0O0000mOO0OD00 ATOODO,00000 QO
Q = cmAT (6)

00000000000 dQ/dt,dn/dt00O00O0O

(@) = «(@har @

00000000 ¢=4.1816J/(K-g) = 1(cal/K-g) 000000
000000000 ATO

(T 1857 x 108Js™ !
c(%m)  lcal- K-'g=1 x (4 x 10* x 103gs~1)
1857 x 106]s7!
4.18] - K=1g=1 x (4 x 10* x 103gs™1)
= 10.95 O (8)

.
O

AT =

SRS

(000000000 1eal/K/g) 0000000 O0DDO0ODOOO0OODODOODOOOO 1g0O
OO0 1KOOOOOoooOoUO lealODOOODOODODODOOO



